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1) The following table lists the history of 940 orders for a computer product 

  Extra memory 

  yes no 

Optional high-speed 

processor 

yes 250 110 

no   60 520 

 

a) Knowing that the order requests extra memory, what is the probability that an order 

requests the optional high-speed processor?     (1pt.) 

 

 

 

 

 

b) Let    be the event that an order requests the optional high speed-processor, and let   

be the event that an order requests extra memory, Are the two events independent? 

Explain.         (2pts.) 

 

 

 

 

 

 

 

c) find the following  

i.  (    )        (2pts.) 

 

 

 

 

 

 

ii.  (     )        (1pts.) 

 



2) A lot contains 50 printed circuit cards, and 5 are selected without replacement for 

functional testing. 

a) If 10 cards are defective, what is the probability that at least one defective card 

appears in the sample?       (3pts.) 

 

 

 

 

 

b) If the sampling is with replacement, what is the probability of exactly two defective 

cards in the sample?        (2pts.) 

 

 

 

 

3) A study of cars arriving at a parking garage at King Fahd airport shows that the average 

time between arrivals is 1.2 minutes and is exponentially distributed.   

a) Find the probability that more than 2 minutes will elapse between the arrivals of cars.

          (2pts.) 

 

 

 

 

 

 

 

 

b) What is the distribution of the number of cars arriving at the parking garage? 

          (1pt.) 

 

 

 

4) If Z is a standard normal distribution, find the following. 

a) P(Z > -1.37)         (1pt.) 

        

 

b) P (2Z < 1.65)         (1pt.) 

 

 

 

c) z such that  P (|Z| < z) = 0.85       (2pts.) 



5) The compressive strength of samples of cement can be modeled by a normal distribution 

with a mean of 6000 kilograms per square centimeter and standard deviation of 100 

kilograms per square centimeter. What is the probability that a sample’s strength is 

between 5800 and 6250 kilograms per square centimeter?   (4pts.) 

 

 

 

 

 

 

 

 

 

6) A screw manufacturing process produces 2% defectives. Assume the screws are 

independent and that a lot contains 1000 screws. 

a) Approximate the probability that fewer than 25 screws are defective. (5pts.) 

 

 

 

 

 

 

 

 

 

b) Approximate a value so that the probability that the number of defective screws 

exceeds this value is at most 5%.      (3pts.) 


